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(A=>% )L, B)
1 170 M.N K EFHT PN o] /N AR
2 151 N.K K EFHT PN o] NS AR
3 149 AM K EFHT PN o] /NS AR
4 134 KN K EFHT PN ] /NS AR
4 134 TN AT AL/
6 129 SI K EFHT PN o] /NS AR
7 123 KM K EFHT PN o] /N AR
7 123 SR INETH AR
9 121 ina 7K FFHT EEE /N
10 119 HYUt- hLi rF™H EIR/NER
11 114 S. S B LT AES RN
12 111 1in EMET EEPRNER
13 110 LAIT ] It B /NI
13 110 Y K =R R/ DR
13 110 N-K HEH B RINER
16 109 HYt- FHO kI EIR/NER
17 107 406 fE2Hm HE/DER
17 107 IHE2 fE2Hm RNEEA
19 106 HK INETH RSB INERR
20 105 UM 7K EFHT NN
20 105 N-J HEH B RINER
20 105 1107 fE2Hm HERBINER
20 105 1113 fE2Hm BERBINER
24 104 HWEH ME ] BN
24 104 13 HEH HER/INER
24 104 IHE4 E@Hm B /MR
27 103 HA INETH AN
27 103 AL E HLS sl IR /NEKR
27 103 SWES Y RHFTH FIIA/NER
27 103 1108 E@Hm BINER
31 102 TM Hhom LB /N
31 102 V&S sl It B /N
31 102 S-N HET B RINER
31 102 12 sl ZEfE/NER
35 101 K.C sl B REE/NPAR
35 101 LT HPD sl IR /NEKR
35 101 SAD HPS RHFTH FIIANER
35 101 15 HET HER/INER
35 101 19 EarE 0001 BE/NFER
40 100 gl HhY Hho FBINER
40 100 HAH Hho 2K/
40 100 S.E 7K FHT NN
40 100 N.A FE LT L/
40 100 LM FE LT /N
40 100 Y.N FE LT L/
40 100 =)l BE b Cadit] B ER/INEAS
40 100 YA b adit] RAINER
40 100 I-T 5 TImh T HR /PR
40 100 408 BHM HE/NER
40 100 1106 BHM BINER
40 100 SS Pt HZH /2R
52 99 10124 BELlLTH BT/ N
52 99 F-K HETH &R
52 99 1107 BHT BINER
52 99 1111 Pt BINER
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52 99 1211 f2Hm BhEER
52 99 4 SR ET MAE/NER
58 98 4 K FHT L EHNER
58 98 H-R #5:Th BT/
58 98 308 feHm HE/INER
58 98 24 RIFH = EHf/MFER
62 97 2 K FHT EEHNER
62 97 7 5 Ith SFFINER
62 97 NA BHF FIKF/DNERR
65 96 M.K L AT ET MO 4/ N AR
65 96 SIE _ph RIFTH FIIANER
65 96 103 HEH NN 5
65 96 1109 g™ BINER
65 96 AA wBHF H2Z2 H/DNER
70 95 AD 7K EFHT NN
70 95 Y-M iR AITH L FRE /DR
70 95 misaki ] FIIFR/NER
70 95 M.A RFH B R /N
70 95 Em1E28H—%&F10 HEH EHm/NER
70 95 EEIEME—%&F13 HEH /R
70 95 307 fE2Hm HE/DER
70 95 1204 fE2Hm BN
70 95 1206 fE2Hm HERBINER
70 95 1214 fE2Hm BERBINER
70 95 14ky EFal EEPRNER
70 95 25mh ES ] EEPRNER
70 95 K-S INVETH FIRINER
83 94 1101 FEHI T EE /MR
83 94 H.R FE T LN
83 94 TA INETH TII/NER
83 94 TS sl B REE/NPAR
83 94 1212 i=Eaunt] BINER
83 94 M-T = EfT INFE /N
89 93 SN 7K FFHT NN
89 93 saki sl EIIHR/INERKR
89 93 0K sl B/ NPAR
89 93 K.Y sl B REE/NPAR
89 93 S-Y 5T BT/
89 93 LY EarE 0001 N
95 92 TAA Hhom SERINERL
95 92 M.K 5 Eil AT Mo 4R/ N
95 92 N.KYOU 5 il BT R N AR
95 92 R. S LU RS R /INVER
95 92 TY BHM LU BR BRIV
95 92 KI fBHM HZH /2R
101 91 7ooa Hhoh SERINERL
101 91 FHKPp Hhoh = RN
101 91 siyu 7K EHT E /R
101 91 K.N AT L/
101 91 1102 % gif AT g H /MR
101 91 TK b Cadit] BEE/INER
101 91 SM b Cadit] RAEINER
101 91 FAECAH HPL RFTH FIIA/NER
101 91 H-R 5T T HR /IR
101 91 110 HET N R /NS
101 91 116 HET N R /NS
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101 91 404 BHF HE/DNER
101 91 FA eHm FEKAE/DER
101 91 18 RIFH = EHf/NFER
115 90 KF K EFHT PN o] /NS AR
115 90 M.K K EFHT PN o] /N AR
115 90 M.S K EFHT PN o] NS AR
115 90 (YA 40 KEF/NER
115 90 NY INET SE/NER
115 90 uh INETH INVEINER
115 90 A —F AT BN
115 90 KA R BEE/NFR
115 90 S.N R BEE/NFR
115 90 Ll HE kIt EIR/NER
115 90 KS R IR FET AREB/INERR
115 90 HM R IR FET AREB/INERR
115 90 S-H BT BT/
115 90 H-R BT BT/
115 90 M-M BT BT/
115 90 20 I SLEFINERR
115 90 Em1FE24—%&F9 HET EHm/NER
115 90 204 fE2Hm HE/DER
115 90 213 fE2Hm HE/DER
115 90 513 fE2Hm HE/DER
115 90 302 fE2Hm HE/DER
115 90 AS fE2Hm TFERNER
115 90 HM fE2Hm FIKF/DNERR
115 90 BHEEFM wBHF HEBE /NP
115 90 1110 E@Hm BINER
115 90 %102 i=Eaunt] INEINER
115 90 NM E@Hm H2Z2 H/DNER
115 90 1211 E@Hm BEBINER
115 90 1213 i=Eaunt] BEEE/INFR
115 90 1217 E@Hm BEEE/INFR
145 89 W.Y Hhom FHINER
145 89 UR FRI T LN
145 89 U-M FRI T L FRE /DR
145 89 1225 5 Hif AT R /NER
145 89 KA INETH TII/NER
145 89 SY INETH TII/NER
145 89 K-M LU FF /N
145 89 ZH k% sl B/ NER
145 89 SY sl RE/NFR
145 89 FEriIEA— & F11 HET FEHE/NER
145 89 304 BHM HE/NER
145 89 1112 =Pt BIhER
145 89 NS BHM HZ /2R
145 89 1110 BHm BRE/INER
145 89 4 it = EfE/NER
160 88 1318 FE LT EE/NER
160 88 K-M [0k I E/INER
160 88 TT NSl EAENE
160 88 ™ INETH SENFER
160 88 ym INVETH INVEINERS
160 88 mh INETH INEINEERR
160 88 N-K BELlLTH RS R /INVER
160 88 yu RFH EITHR/INER
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160 88 IaE T Iiff B/
160 88 HI RFH BE
160 88 S-Y #:Th BT/
160 88 N-M #5:Th BT/
160 88 209 feHm HE/INER
160 88 301 eHm HE/NER
160 88 KN eHm FKTEDNER
160 88 HY eHm FKFAINER
160 88 YY eHm FKTEDER
160 88 K-M = [EHT INE /N
160 88 T-1 = [EHT INE /N
160 88 M-H = [EHT INE /N
180 87 AR BiE hiom B INER
180 87 AR fEmE hHhoth £FINER
180 87 RN 7K EFHT 1‘ 8/ NEAR
180 87 imo K FHT EEb /R
180 87 5 K FHT LEEHNER
180 87 £203 NS dit] B EINER
180 87 KS INETH SEINER
180 87 FS INETH SEINER
180 87 MN INETH SE/IMNER
180 87 K-Y R LI AR /N
180 87 g LI H kI BN
180 87 NG R Y Cadit] BHEVNFER
180 87 IM ] KA /NFR
180 87 BE = 5T TEIE/INVER
180 87 H-A BT BT/
180 87 KA i BT/ NERR
180 87 1201 i=Eaunt] BINER
180 87 1104 E@Hm BERBINER
180 87 K-R = EfT INFE /N
180 87 19tk ESal EERPRNER
200 86 WwE S hiot £iF IR
200 86 p5h hoth %HE?R/J\*‘#&
200 86 ERE A 7K FFHT EEE/INER
200 86 KK FEHI T FENER
200 86 Y .K 5 Eil AT Mo 4R/ N
200 86 £109 N it ﬁ‘f*ﬁd\%#
200 86 KS INETH E/NER
200 86 K. M LU m%%ﬁll\*‘r-"*
200 86 H-M LU AES RN
200 86 siduki RHFTH FIIR/NER
200 86 YR b adit] RAE/NERK
200 86 SH IMNE 5 TImh [T
200 86 1 5 Tmh SLERINERR
200 86 108 HET WE/NFR
200 86 17 HET HEE/NER
200 86 SA =Pt JB/NEAR
200 86 104 BHM HE/DER
200 86 405 BHM HE/DFER
200 86 MM BHM EIKFRINERS
200 86 1207 BHT BINER
200 86 1210 BHT BINER
200 86 YY Pt HZH /2R




